asym_usl

asym_dsl

asym_usr

asym_dsr

run7266 000 resressionr-asym maindet

B — —16( B — B — —{1&0
8000 8000 — |80t 8000
N —14 - - —{14¢
_ _ —70C _
BO00 | = BO00 [ BODD .
o - - =
- —12C - - —{12¢
4000 4000 = —aor 4000
2000 b —|rol 2000 | 2000 b —10t
oF 801 ol o
B - N N bt
3000 . ~oppo 0 ™ -2000 -
- 60 - - BOC
~4000 :— -4000 :— ~4000 :—
B ] 400 = = [ | 400
6000 [ 6000 [~ M ~B000 [
- 20( - - 100 - 20(
-8000 [ 8000 [~ - 8000 -
_I 11 I 111 I 111 I 111 I 111 I 111 I 111 I 111 I 111 I 111 I} _I 111 I 1111 I 1111 I 1111 I 1111 I 1111 I 1111 I 1111 ﬂ | I 111 I 1 11 I 1 11 I 111 I 1 11 I 111 I 1 11 I 111 I 11 ﬂ
-120-100 -B0 -60 -40 -20 O 20 40 60 B0 40 -30 -20 -10 O 10 20 30 40 ~100 -BO -60 -40 -20 O 20 40 60
diff_bpmXum diff_bpmdaYium diff_bpmdeXium
difL d ' d '
- — —|18L - - —18(
1500 | 1500 [ 7o 1500 |
[ -4 - - —14(
1000 | 1000 | —60C 1000 |
" | " - m |
[ [ — 500 _
500 | o 500 - =00 E S
B ] N [ [ ]
ol 0 o
- [ ] - BOC ;l . [ ] - BOC
o0 = BOC _con - _epn -
500 . 500 [ 500 . 0L
~1000 | 40t ~1000 |- ~1000 | 40t
n 200 n 10 - 201
1500 |- - -1500 |- - =1500 = m
_I 11 I 111 I 111 I 111 I 111 I 111 I 111 I 111 I 111 I 111 D _I 111 I 1111 I 1111 I 1111 I 1111 I 1111 I 1111 I 1111 ﬂ I I 111 I 1 11 I 111 I 111 I 1 11 I 111 I 1 11 I 111 I 11 ﬂ
-120 =100 -80 -60 -40 -20 O 20 40 60 BO 40 -30 -20 -10 © 10 20 30 40 ~100 -BO -B0 -40 -20 O 20 40 60
difi _bpm1Xum difi_bpmda¥ium difi _bpmdeXsum
i —18( |
10000 10000 0L 10000 —18(
i —18( —B0C I —16(
I —14( —70C - —14(
5000 - 5000 5000 -
i —12( —600 i —12(
I - 100 i " 100
ok o o
I 800 - 800
L G0C B 0L
| n | m
-5000 ~ m A ~5000 200 ~5000 ~ 40¢
I 200 10( I 201
10000 _|||I|| oo bvea v b bvra bear bva bea o 10000 EEEEEEENE NN RN NN NN RN NEEE 0 10000 _|I|| plovrbver v berabvra bvvn baa b 0
120 -100 -B0 -60 -40 -20 O 20 40 60 BO 40 -30 -20 -10 O 10 20 30 40 ~100 -BO -B0 -40 -20 O 20 40 60
diff_bpm1Xum diff_bpmdaYium diff_bpmdeXium
d ' difL d '
- —16&( - — B —16L
1500 1500 1500
- - —70C -
- —14( - - yar
1000 | 1000 | ] 1000 |
: —12(¢ - oot N -1
500 soof— ™ eor 500
. — 10 . - = o
o [ ] B0l o e BOC
. = N . =
[ [ [ [
" [ ] . o
~500 [ RO ~500 - -o00 ¢ BOC
1000 | 400 1000 | 1000 400
1500 | 20 ~1500 |- - ~1500 | 201
B [ ] N N
-I 11 I 111 I 11 | | I 111 I 111 I 111 I 111 I 111 _I 111 I 1111 I 1111 I | 111 I 111 IJ_I_ 11 I I 111 I I 111 I B

Ly
40 20 40 60 80

C —anr
8000
- —70c
BOOD [
4000 [~ —[B0c
2000 b
ﬂ_—
B |
2000 - ™
~4000 [
6000 [~ W
- 100
8000 [~
_IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII I}
40 =30 -20 =10 O 0 20 90
difi_bpmdaYium
difL
| —
1500 | ik
- — 600
1000 [~
[ —{50(
EﬂD:-
ﬂ:‘ u
-500 |~
~1000 |
100
1500 [ =
_IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII D
40 -30 -20 -10 O 10 20 a0
difi_bpmdaYi/um
diff_bpmdeY
i —lanr
10000 | |
o |
i —B0C
i m
i u —700
5000 |-
- —g0r
B |
ﬂ_
: ]
I 100
i u u
10000 LU AN NN NN EENEEnl FEEnE NEENE NN o
40 -30 -20 -10 O 0 20 a0
difi_bpmdaYium
diff _ hpméle Y
1500 |- i
1000 [~ o
500 | —{50
of
-500 |
~1000 |
~1500 |-
:LIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

8000 —100
6000
4000

2000

1]

=2000

-4000

= 6000

- 8000

1 111 I 1 111 I 1 111 I 1 111 I 1 111 I 1 111 I 1 111 I 11
-200 -150 -100 -50 O 50 100 150
diff_bpm12X/um

B f— — 700
1500
- —ls0t
1000
- —50(
E-I}D_—
of
-500
1000 |-
~1500 | .
oo v b bvsa b brvaa o a b 0
200 =180 =100 =50 (1] 50 100 180
diff_bpm12X¥/um
difL
10000 — —12(
i —10L
B000
D_
5000 —
i n
1[“:“] prrr v bvvre brvvr b v brwr s br s b

00 -150 -100 -50 O 50 100 150
diff_bpm12X/um

N — —70(
1500
E —lgor
1000
_ m
N —15010
E-DD_—
- 40
(U
C a0C
-E-I}EI_—
N 20(
~1000 [~
_ 10€
-1500
[ [ |
-IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII [I

-200 =150 =100 -50 1] 50 100 150

.7Z postpan.png S



reg_asym_usl

reg_asym_dsl

reg_asym_usr

reg_asym_dsr

I
4000 — —14(
= —12(
2000 _— - [ |
— 100
- u
B [ |
o | 80(
= B0
2000 —
| 401
4000 — 200
_I 11 | 111 | 111 | 111 | 111 | 111 | 111 I 111 | 111 | 111 D
=120 =100 =80 -0 40 =20 O 20 40 80 BD
diff_bpmXum
difL
[ — —16&(
1500 |
- —14¢
1000 | .
B [ |
00 = —10
B [ |
o ® 80
C |
_ = 600
500 F -
1000 | 400
i 200
-1500 | u
_I 11 | 111 | 111 | 111 | 111 | 111 | 111 I 111 | 111 | 111 D
=120 =100 -80 -B80 40 <20 O 20 40 80 B8O
difi _bpm1Xum
difL
I
4000 —{14¢
: —12(
2000 _— - -
I — 10
o B a0l
i [ |
B [ | 600
2000 —
| 40
4000 200
i m
prr b tvrr b bvrn bers v beaa braa e o
=120 =100 -80 -0 40 <20 O 20 40 80 BD
diff_bpm1Xum
d .
B —16(
1500 |
—{14¢
1000 |-
i —12(
500
[ — 10
B [ |
ﬂ -
‘= u 80C
-500 m cot
1000 | 401
1500 | 200
B [ |
-I 11 | 111 | 11 | | | 111 | 111 I 111 | 111 | 111

Ly
40 20 40 60 80

2000

=2000

—700

-4000 10
0
_I 111 | L1111 | L1111 | 1111 | L1111 | 1111 | 1111 | L1111 0
40 -30 -20 -10 O 10 20 30 40
diff_bpmdaYium
diff
1500 [ —70
1000 | —60C
- n
500 - —s0¢
I |
Orm [ |
B |
-500
1000 |-
- - 10¢
~1500 .
_I 111 | 1111 | L1 11 | L1111 | L1 11 | L1111 | 1111 | 1111 {'
40 -30 -20 -10 0 10 20 30 40
diff_bpmdaYium
diff _
4000 —{70(
—60(
2000
—{50(

=2000

=4000
] n
EEEEEEENE NN RN NN NN RN NEEE 0
40 =30 =20 =10 1] 10 20 an 40
difi_bomdaYium
d.
B —
1500 {700
1000 | .
Z. [ ]
soof ™ —50(
of
[ |
-ErI}EI_—
1000 |
~1500 |-

run7266 000 resression-reeg maindet-vs diff”

IIIIIII|IIII|I]_|_I|IIII|IIII|IIII|IIII

4000 —{14r

I —12¢

2000
i —10¢
- H
o BOC

I BOC
~2000

] 40C
~4000 501

_I | 111 | 1 11 I 111 I 111 | 1 11 | 111 | 1 11 | 111 | 11 ﬂ

-100 -BO -60 -40 -20 O 20 40 60

diff bpmdeX/um

d '
- — —{16€

1500 |-
[ —14¢

1000 |
- - —{12¢

500

n —100

_ |

_ m

OF BOC

C [ |

-500 . BOC
1000 | 400
0 200
~1500 |- =
I | L1l | L 11 I L1l I L1l | L1l | L1 | L 11 | L1 | (I | ﬂ
~100 -BO -0 -40 -20 O 20 40 6D
diff bpmdeX/um
diff bpmdeX

N |

4000 —{1ac

I —{12¢

2000 = i
I —{100
o ] BOC

- m

I m BOC
~2000

| 40
~4000 a0(

I .

cloa e b b b b b Lo b 0

-100 -BO -0 -40 -20 O 20 40 60

diff bpmdaX/um
d .

| —

1500 [ —16¢

N —{14(

1000 |-
E —12¢
B0 —
E = —{100
[' -
" m - 800
_500 " [

B [N
1000 | 400
~1500 | 200

B | _IJ_I 11 I 111 I 111 | 1 11 | 111

E'.:'_
-

G0 -41} _20

- POS

4000

2000 —
B [ |
.
Lo -
B [ |

“2pop - W

~4000 I
_IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

40 -30 -0 -10 O 10 20 30
diff_bom4eY/um

1000

500

I-I

~500

= 1000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

5

=30 =20 =10 1] 10 20 30
diff_bpmday/um

diff_bpmdeY

4000

2000 —

=2000

=4000 —

40 -30 -20 -10 O 10 20 30
diff_bpmdaY/um

diff_bpmdeY

1000

500

-500
=1000

=1500

-40 =30 <20

600

500

0L

600

500

T0C

600

S0C

100

T0C

600

500

tpan:pnge

2000 —

=2000 —

=4000 —

1 111 | 1 111 I 1 111 | 1 111 | 1 111 | 1 111 | 1 111 | 11 ﬂ
-200 -150 -100 -50 O 50 100 150
diff_bpm12X/um

—70C

1000

200

- 500

=1000

=1500 -

ol by ber s by v beay s by g by 0
-200 =150 100 =50 0 50 100 150
diff_bpm12Xium

diff_bpm12X

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

4000 —

2000 —

=2000

-4000 —

prrr v bvvre brvvr b v brwr s br s b 0
200 =180 =100 =50 1] 50 100 180
difi_bom12X/um

91

1000

200

-500

=1000

=1500
|

crcr b b b b b b va g Fa g
-200 -150 -100 =50 1] 50 100 150
diff_bpm12X/um




asym_usl

asym_dsl

asym_usr

asym_dsr

run7266 000 re

6000

4000

2000

=2000

=4000

-120-100 -B0 -60 -40 -20 O

diff_bpm1X

:_ - y2/ndf  9.052/14 %2 I ndf 37.74 /34
R p0 6.646 + 7.241 p0  0.7362 * 6.6167 M i
I p1 -28.58 £ 1.00 p1 107.8 £ 1.0 it {
I H\h‘\ ]L ok -
[ HH - L - ]
- -2000 1t
_ | : - |[|1+
! _a000 |- ”
_ll||||||||||II|||||||||||||||||||||||_|| _E.DDD_l|||_||||||||||||||||||||||||||||||||||||

|
200 40 60 B8O

diff_bpm1X

‘;{ ! naf 1342714
pO —0.5898 + 1. 3808
p1 0.03009 £ 0.19095 -
u ~ T -
200 -
i f } }
aF - _ M‘M
200 | B
_apo |-
—E"DD_tlllllllllllllllllll III|III|III|III_|III
~120-100 -B0O -60 -40 -20 © 20 40 60 80

diff_bpm1X

¥2 [ ndf 10.59/14

p0 9.529 £ 7.269 *_

p1 77.39+1.00 A
ol

2000 [ w{'

4000 [ d

6000 |- )
oo bona bvva b bona bona b b bvnabua
=120-100 -B0 60 40 =20 O 200 40 60 8O

diff_bpm1X

- 200

~400

- 600

-800

diff_bpmdaY

°1

1000

800

600

400

200

=200

-40  -30 <20 -10 1] 10 20 30 40

iff_bpmdaY

¥ | nf 2083/ 34

pO 0.2225 + 1.3758

p1 —0.00299 £ 0.21110

| m

TlIIII|IIII|IIII|IIIIIIIIIlIIIIlIIIIlIIII

40  -30 =20 10 1] 10 20 a0 40

diff_bpmdaY

¥2 ! ndf 55.31 /34

p0 1.657 £6.914

pi 1175+ 1.1 Hmh
E-DDU_— #‘Hl.H -

o-
~2000 |- Ry

X Hl{br
—WDU__ r|-
_E.DDD-r_||||||||||||||||||||||||||||||||||||||||

oression  as

1000
o0 |- ¥2 | nf 18.64 /14
: 00
_ IV | p0 1.063 + 1.440
Z } p1 —0.06769 + 0.19780 600
—_ 400
B - 200
— 1]
B 200

| 111 | L 11 | 111 I L1l |-I 1 | 111 | L 11 | L 11 | L 11 | 11
=120-100 -80 -60 20 0 20 40

yYin

diff_bpmdaY

40  -30 <20 10 1] 10 20 a0 40

- 72/ ndf 38.33/34
[ p0 1.256 +1.436
- - p1 01798 £ 0.2212
[ ) P
'_I'lIIII|IIII|IIII|IIIIIIII_IJ_IIIIlIIIIlIIII

=40 =30 =20

maindet

diff_

BO0O0 — —
- - ¥2 [ ndf 23.76 /15
4000 |- 00 7.733 + 7.241
I p1 -23.77 £1.05
2000 —
of- H'P}h\g
l ]t W
- 2000 _ ) } )
=4000 _—
_II|III|III|III|III|III|III|III|III_|II
=100 B0 -60 -40 =20 0O 20 40 60

diff_bpmdeX

32/ ndi 21.12/15
p0 —0.5172 £1.3770
P 0.008326 £ 0.201585 }— i
zun:— i
}W&
-EﬂDf— )
-ﬂmnf—
-EDDi—.IH|I|||I|||I|||I|||I|||I|||I||-|I||
100 -80 -60 -40 -20 O 20 40 60

diff_bpmdeX

12 [ ndf 21.22/15
p0 1013 £ 717 h}
4 i}
p 90.09 £ 1.04 s }
ol
—E{}DD:— "
—WDD-— Fl
—E-DDD-—_
_||||||||||||||||_|||||||||||||||||||||
=100 B0 -80 40 20 0O 20 40 860

°-.

200

=200

=400

- 600

-800

iff _bpmdeX

7= [ ndf 1142715
|Ju[f po 1.38£1.44
} Jr p1 —-0.1299 £ 0.2085

+

II|IJ_||III|III|III|III|

s diff

“bpm-

fit

diff_bpmdeY

¥2 { ndf 43.1/36 }
p0 1.992 + 6.465 Hﬂ”
p1 117.6+1.0 M) +

of
2000 T i

: H fH
-WDD_—
_E.DDD_III_IlllllllllllllII|IIII|IIII|IIII|III

=40 =30 =20 =10 0 10 20 30

91

iff _bpmdeY

: ¥2  ndf 34.11 /36
400
I p0 0.2591+ 1.3765
200 |- } p1 —0.1032 £ 0.2115
- I
L - ‘| ‘H+ * + }‘
200
=400
_I L1l I L1l I L1 11 I L1 11 I L1111 I L1111 I L1l I_I L1l
40 =30 =20 =10 1] 10 20 an

diff_bpmdeY

Efndf 26.83 / 36
p0 2.15+6.76 :
p1 127.3 £1.1 {H_HM_
2000 — -H-#]l
ol
2000 ;
M
--‘H}DU:— ra‘H
:||||||||||||||||||||||||||||||||||||||
40 =30 =20 =10 1] 10 20 a0

iff_bpmdeY
1000 -

- ¥2 | ndf 34.97 | 36
00 _—

: pO 1672 + 1.436
600~ - pl  —0.05788 + 0.22169
400 :—

200 } J { }
. WHW*MW {l
— 200 :— { | }
| 111 I L1111 I L1 11 I L1 11 I 1 11 | I 1 11 | I 111 | I 111

-20 =10

posfpan png

diff _

8OO0 - —
N ¥e | ndf 44.29/ 36
go00 - }
C {-ﬁ# p0 1.02 £ 4.60
4000 fe,
i A, o1 -38.56+0.14
2000 :—
of
~2000 |-
P .,
4000 : J"‘*L+H+
- +-L+
_6000 |
- f
_||||||||||||||||||||||||||||||I||||||||

200 -150 -100 -50 1] a0 100 150

diff_bpm12X

600 = 2 | ndf 93.8 /36
400 - p0 0.01865 + 1.37918

i pl  —0.04324 + 0.04129
200 |- _

i } 'P

or- WMH”'*‘” A ""T"'ﬂ‘rhjw

=200 —
=400 _— -
_E.DD—rllllllllllllllllll|||||||||IIIIIII|III

200 -150 -100 =50 1] 50 100 150

2 [ ndf 46.96 / 36
BOOO
t

po 0.5799 + 45725
&000

Hy. 1 _ +
o, P 4189 £ 0.14

4000

2000

0

= 2000

=4000
++++Jr

-+

-8000 F )
Levvabvvna v bvvvr bvrra bvvna b o
200 =180 100 <50 1] 50 100 180D

diff_bpm12X

¥ </ ndf 42.85/ 36

~6000

pO 1.355 £ 1.439

Pl 0.08241 + 0.04327

Iy I J!

-200 =150 -100 50 1] 0 100 150



reg_asym_usl

reg_asym_dsl

reg_asym_usr

reg_asym_dsr

=

diff_bpm1X

2”'3'”;‘ T %2/ ndlf 1512/ 14
15nnf— p0 -0.5148 £ 4.2430
mmé_ pl  -0.2762 £ 0.5834
5[:03— - - #‘

uf_ _'Hh""”"'“""""FlJr H __
-5{:03— ) _
_mnnf— | h

Lo b b b b b Lo

|
~120-100 -80 -60 -40 -20 © 20 40 60 80

diff_bpm1X

2 | ndf 13.42 /14
PO ~0.5663 + 1.3805
pi 0.04983 + 0.19092 -
200 F | )
uf_ i _ ]Ll = ""WJ _
_zunf— -
-mnf—
600 1, L b bl b b b b b
120100 =80 60 40 =20 O 20 40 60 8O

diff_bpm1X

¥2 / ndf 22.25/ 14

pO 2.003 4210
p1 0.604 £ 0.580
500

[t I

Clovrbooa v beaalo
~120-100 B0 -B0 -40

diff_bpm1X

¥ / ndf 18.77/14

= —

|
20

p0 1.046 + 1.439 }

ity
o 0.032+0.198 [* Jq :

=200

- 400

=600

-800

run7266 000 regreéssion r¢

oressSion reg ﬂalﬁﬂetj

diff_bpmdaY

1= nof 28.04 / 34

p0 —0.8659 £ 4.2352 -

p1 0.5165 £ 0.6535

SO = 1 }
b M}Hﬂ
- +
- LH* |

=500 — |

~1000

~1500

o000 |- -
_I|IIII||||||||II|III||I||||IIII|IIII|IIII
40 -30 -20 -10 O 10 20 30 40

°1

iff_bpmdaY

1000

800

600

¥ | nf 2041/ 34

pO 0.2425 + 1.3755

p1 —0.03379 £ 0.21104

400

200

- 200

| W

‘I‘lIIII|IIII|IIII|IIIIIIIIIlIIIIlIIIIlIIII

40  -30 =20 10 1] 10 20 a0 40

diff_bpmdaY

%2 [ ndf 2229734

po 0.9639 + 4.1977

p1 0.522 + 0.647
00 o i
: -
500 [ i
1000 |
~1500 [~
L lvva b bvres v b brvaabva e g

40  -30 <20 10 1] 10 20 a0 40

diff_bpmdaY

¥/ ndf 38.35/ 34
pO 1.214 +£1.436
p1 0.03033 = 0.22112
400
200

=200

II|IIII||_|_IIIIIIIlIIIIlIIIIlIIII

s’ diff “bpm-fit

diff_bpmdeX

2000 2 { ndf 18.53 /15
1500 I p0 0.3051+ 4.2308
I p1  —0.05374 + 0.61535
1000
500 u -
L] — |W+ H‘HH
500 | }
_I | 111 | 111 | 111 | 111 | 111 | 111 | 1 11 | 1 11 | 11

-100 -80 -680 -40 20 O 20 40 60

diff_bpmdeX

2 | ndf 21.09/15
p0 —0.4924 + 1.3767
pi 0.04189 + 0.20155 } |
E{?D:—
ﬂf— - |MM‘
—EDDz— -
-mnf—
N I T I T T P

=
=

~ 1

diff_bpmdeX

12/ ndf 18.94 /15

-80 -60 -40 20 O 20 40 60

p0 248 +420

pi 0.5374 + 0.6109

IRl

-100 -80 -80 -40 -20 O 20 40 60

diff_bpmdeX

¥< { ndf 1155/ 152

p0 1.361+ 1.435 { .

p1 0.00373 + 0.20839 ” -

I
-200 - - | }
- 400
600

-800

H T 1 I T 1T 1 I T 1T 1 I T 1T 1 I

diff_bpmdeY

%2 / ndf 27.14 /36

p0 -0.648 + 4.233

p1 0.142 + 0.653

5[:(:5— ‘ } '
ﬂ;__ HWH#HM I

soof

_mnnf—

-15003—

‘E”m:_...'.h...lunlmlllll"'""""""
40 <30 -20 -0 @ 10 20 30

diff_bpmdeY

w2/ ndf 34.18 / 36

400 —
. po 0.2804 + 1.3763
200 -0.116 = 0.211

I W'

o |

-200

- 400

40 <30 20 10 1] 10 20 30

diff_bpmdeY

%2 | ndf 24.51/ 36
p0 1.41+ 4.20

p1 0.3284 £ 0.6491

-500

= 1000

1500 _
AEEEEENE NI RN SN NNl REE N NEE

-40 <30 <20 10 1] 10 20 30

diff_bpmdeY

w2 | ndf 34.37 /36
po 1.627 + 1.436

p1 0.1377 +0.2216

T HHHH | Wﬂl }
-+ |

-30 =20 -10

postpan png

%

bpm12X

- ¥2 | ndf 35.52 / 36
1000 —
! o0 _0.1717 + 4.2374
00 | —0.01529 + 0.12693
T W%MW“
500 }} R
=1000 _— -
=1500 _—
_l L1111 | 1111 | 1111 | L1111 | 111 | 1111 I 1111 | L1l

200 -150 -100 -50 1] a0 100 150

°1

iff_bpm12X

ﬁan:— %2 | ndi 33.41/36
400 :_ p0 0.05023 £ 1.37889
E p1 —.01641+£ 0.04128
:mn:— M |PT
of wo W&Wﬁ%ﬂﬁw
—EﬂD:—
-mnf— _}
_ Dil||||||||||||||||||||||||||||||||||||||

200 -150 -100 =50 1] 50 100 150

diff_bpm12X

}‘;2 { naf 3578/ 36

pO 1.445 + 4.200

p1 0.06405 £ 0.12535

1[?(](]_— “|‘ J “;
0 + ngﬂ#ﬂrw—w-ﬁwﬁﬁ;ﬁﬂ-}ﬂd

—'1[?ﬂﬂ:— |

=000 T v b b b b e b

200 <150 -100 -50 1] 50 100 150

diff bpml2X
¥/ ndf 42.78 7 36

pO 1.303 £ 1.438

Pl 0.00146 + 0.04325

ﬂ provo—ey M

-200 =150 -100 50 1] 0 100 150



asym_usl

asym_dsl

asym_usr

asym_dsr

run7266 000 re

8000

G000

4000

2000

1]

=2000

-4000

~6000

~8000

120 -100 -80 -60 -40 20 © 20 40 &0 80

1500

1000

500

~500

=1000

=1500

diff_bpmXum

120 -100 -80 -60 -40 20 ©0 20 40 &0 8O0

10000

5000

=5000

10000

difi _bpm1Xum

120 -100 -80 -80 -40 20 ©0 20 40 &0 8O

diff_bpm1Xum

1500

1000

500

=500

=1000

=1500

120 -100 -80 -60 -40

sression-asym main

20 40 60 80

8000

6000

4000

2000

=2000

~4000

~6000

~8000

5

1500

1000

500

=500

=1000

=1500

30 -20 -10 O 10 20 30 40
diff_bpmda¥ium

5

10000

5000

=5000

16000

1500

1000

500

- 500

=1000

=1500

30 =20 10 1] 10 20 30 40
diff_bpmda/um

30 -20 -10 O 10 20 30 40
diff_bpmda¥ium

III|IIII|IIII|IIII|IIIIJ_|_III|IIII|IIII

30 -20 -

8000

6000

4000

2000

=2000

~4000

~6000

~8000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

~100 -0 60 40 -20 0 20 40 60
diff _bpmdeX/um

1500

1000

500

-500

=1000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

=1500

100 -80 -60 -40 -20 0O 20 40 6D
diff_bpmdaX/um

iff_bpmdeX

10000 [

5000 =

=5000

10000 plova b bvva bvrr bvva v bena ol

~100 -BO -B0 -40 -20 O 20 40 60
diff _bpmdeX/um

1500

1000

500

=500

=1000

=1500

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

det-vs diff ‘bpme=scat

8000

G000

4000

2000

= 2000

=4000

= 6000

= 8000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

-40 =30 <20 -10 1] 10 20 30

1500

1000

500

~500

= 1000

=1500

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

diff_bom4eY/um

5

10000 [—

5000 =

=5000

=30 =20 =10 1] 10 20 30

diff_bpmday/um

10000 HHL

40 <30 20 10 1] 10 20 30

1500

1000

500

-500

=1000

=1500

diff_bpmdaY/um

- postpan:png

8000

6000

4000

2000

1]

=2000

-4000

= 6000

- 8000

=200

1500

1000

200

- 500

=1000

=1500

=200

10000

5000

=5000

10008

1500

1000

200

-500

=1000

=1500

- 200

=150 -100 =50 1] 50 100 150

diff_bpm12X/um

=180 100 =50 1] 50 100 150

diff_bpm1 2X/um

00 -180 -100 -50 1] 50 100 150

diff_bpm12X/um

=150 =100 -50 1] 50 100 150
diff_bpm12X/um



reg_asym_usl

reg_asym_dsl

reg_asym_usr

reg_asym_dsr

run7266 000 re

4000

2000

=2000

=4000

120 -100 -80 -60 -40 20 © 20 40 &0 80

1500

1000

500

~500

=1000

=1500

diff_bpmXum

120 -100 -80 -60 -40 20 ©0 20 40 &0 8O0

4000

2000

=2000

=4000

difi _bpm1Xum

120 -100 -80 -80 -40 20 © 20 40 &0 8O

1500

1000

500

=500

=1000

=1500

diff_bpm1Xum

120 -100 -80 -60 -40 ¢ 0 20 40 &0 80

oression -reg

4000 [~ 4000 [
2000 2000
o o
~2000 |- ~2000 |
—4000 ~4000 SEa
_||||||||||||||||||||||||||||||||||||||| _Il|||||||||||I||||||||||||||||||||||
40 -30 -20 -10 0 10 20 30 40 100 -80 -60 -40 -20 0 20 40 60
diff_bpmdaYium diff_bpm4aX/um
. .
- | — L |
1500 [ 1500 |
1000 | 1000 |
500 500 |
= " =
-500 -500 |~
1000 |- 1000 |
~1500 |- ~1500 |
_||||||||||||||||||||||||||||||||||||||| _Il||||||||||||||||||||||||||||||||||
40 -30 -20 -10 0 10 20 30 40 “100 -80 -60 40 -20 0 20 40 60
diff_bpmaaYium diff_bpm4eX/um
lff .
4000 [ 4000 |- s
2000 [~ 2000 [~
o o
~2000 |- ~2000 |
~4000 |- ~4000 |
b b b b b b b NI ST I ST FETA AT A
40 -30 -20 -10 0 10 20 30 40 “100 -80 -60 40 -20 0 20 40 60
diff_bpmdaYium diff_bpm4aX/um
. .
- | — L |
1500 [ 1500 |
1000 | 1000 |
500 - 500 |
of of
_soof -500 |-
1000 | 1000 |
~1500 |- ~1500 | |
_|||||||||||||||]_|_||||||||||||||||||||| _IlIIJJ_IIIIIIIIIII|||||||||||||||||||

-maindet-vs diff bpm-sc¢at

4000

2000 —

=2000 —

=4000

1500

1000

500

~500

= 1000

=1500

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

30 -20 -10 0 10 20 30
diff_bom4eY/um

5

4000

2000 —

=2000

=4000 —

=30 =20 =10 1] 10 20 30
diff_bpmday/um

it

1500

1000

500

-500

=1000

=1500

30 -20 -10 0 10 20 30
diff_bpmdaY/um

e

-30 =20 -10 1]

postpan.png-

4000

2000 —

=2000 —

4000 T Tl

_I 111 | 1 111 I 1 111 | 1 111 | 1 111 | 1 111 | 1 111 | 11
-200 -150 -100 -50 O 50 100 150
diff_bpm12X/um

1500

1000

200

- 500

=1000

=1500

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIlII

200 =150 100 =50 1] 50 100 150
diff_bpm1 2X/um

4000 —

2000 —

=2000

-mnn | . :. . .. .. .- . -

_|||||||||||||||||||||||||||||||||||||
200 =180 =100 =50 1] 50 100 180
difi_bom12X/um

1500

1000

200

-500

=1000

=1500

crcr b b b b b b va g Fa g
-200 -150 -100 =50 1] 50 100 150
diff_bpm12X/um




